
Scientific Notation (E)Convert between scientific notation and ordinary numbers.
0.00000009651 = 8.13 × 10⁻⁵ =

0.000408 = 5.34 × 10⁻⁶ =
0.000000436 = 0.0032 =
3.763 × 10⁻³ = 0.0000298 =
5.18 × 10⁻⁷ = 0.000000342 =

0.00000002741 = 9.14 × 10⁻⁷ =
0.0000036 = 8.04 × 10⁻³ =

7 × 10⁻⁶ = 0.0000000992 =
3.822 × 10⁻⁷ = 7.5 × 10⁻⁴ =

0.0091 = 0.00000007204 =
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Scientific Notation (E) AnswersConvert between scientific notation and ordinary numbers.
0.00000009651 = 9.651 × 10⁻⁸ 8.13 × 10⁻⁵ = 0.0000813

0.000408 = 4.08 × 10⁻⁴ 5.34 × 10⁻⁶ = 0.00000534
0.000000436 = 4.36 × 10⁻⁷ 0.0032 = 3.2 × 10⁻³
3.763 × 10⁻³ = 0.003763 0.0000298 = 2.98 × 10⁻⁵
5.18 × 10⁻⁷ = 0.000000518 0.000000342 = 3.42 × 10⁻⁷

0.00000002741 = 2.741 × 10⁻⁸ 9.14 × 10⁻⁷ = 0.000000914
0.0000036 = 3.6 × 10⁻⁶ 8.04 × 10⁻³ = 0.00804

7 × 10⁻⁶ = 0.000007 0.0000000992 = 9.92 × 10⁻⁸
3.822 × 10⁻⁷ = 0.0000003822 7.5 × 10⁻⁴ = 0.00075

0.0091 = 9.1 × 10⁻³ 0.00000007204 = 7.204 × 10⁻⁸
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